

DeKalb County Government

Manuel J. Maloof Center 1300 Commerce Drive Decatur, Georgia 30030

Agenda Item

File ID: 2019-3486	Substitute	12/17/2019

Purchasing Type: Low Bidders (LB)

Public Hearing: YES □ NO ⊠

Department: Purchasing & Contracting

<u>AGENDA ITEM:</u> Commission District(s): All

LB - Invitation No. 18-101028 Small Domestic Brass Fitting and Gate Valves (Annual Contract with 2 Options to Renew): for use by the Department of Watershed Management (DWM). Consists of the purchase of small domestic brass fitting and gate valves. Recommend award to the lowest, responsive and responsible bidders: Delta Municipal Supply Company and Fortiline Waterworks. Total Amount Not Exceed: \$2,704,452.95.

Information Contact: Cathryn Horner, CPPB

Phone Number: (404) 371-6334

PURPOSE:

Consists of the purchase of small domestic brass fitting and gate valves. Five (5) bids were received.

RECOMMENDATION:

Recommend award to the lowest, responsive and responsible bidders:

Item Nos.: 1-10, 12-17, 19-22, 24-32, 34-62 and 64-106 Delta Municipal Supply, 408 Jesse Cronic Road, Braselton, GA 30517 Note: LSBE Participation: 20% Estimated Amount: \$2,669,835.35

Item Nos.: 11, 18, 23, 33 and 63 Fortiline Waterworks, 321 Highway 411 NE, White, GA 30184 Estimated Amount: \$34,617.60

Total Amount Not To Exceed: \$2,704,452.95

ADDITIONAL INFORMATION:

Contract Effective Date:
Contract Expiration Date
Amount Sent on Previous Contract
Funding:
Additional Bidders:
Date of Award
Annual Contract with 2 Options to Renew
\$5,026,234.80
General - Operating (DWM)



DeKalb County Government

Manuel J. Maloof Center 1300 Commerce Drive Decatur, Georgia 30030

Consolidated Pipe & Supply Company, Inc. 194 Hurricane Shoals Road Lawrence, GA 30046 (Non-Responsive)

Ferguson Waterworks 4655 Buford Hwy Norcross, GA 30071 (Non-Responsive)

Hayes Pipe Supply 3450 Novis Pointe N.W. Acworth, GA 30101 (Non-Responsive)

TO: The Department of Watershed Management

FROM: Agent Name, Judi Moore, Team A

SUBJECT: ITB No. 18-101028 Small Domestic Brass Fittings and Gate Valves (Annual Contract with 2 Options to Renew)

DeKalb County

DATE: January 9, 2019

It is requested that you do the following:

- 1. Please review the attached bids associated with the above referenced solicitation and provide your award <u>recommendation</u>. You are looking for the lowest, responsive and responsible bidder. Your review should ensure that you are confident that your recommended supplier(s) can in fact provide the goods and services required.
- 2. Please provide the following information in the space provided on page two:
 - a. Specific justification why in your professional opinion the recommended vendor should be awarded the contract.
 - b. Advise of any problems in connection with the selected vendor(s), if any exist.
 - c. If you find bidders who offer lower prices than your recommended supplier(s), then you must provide specific justification why they are either non-responsive* (did not follow the instructions found in the solicitation) or non-responsible** (not able to perform/deliver as minimally required according to the scope of work found in the solicitation).

*Note – The Department of Purchasing and Contracting is ultimately responsible in determining if a bidder is non-responsive, but input/feedback from the user department is always important to us. **Note – The user department and the Department of Purchasing and Contract-

ing must mutually agree before determining if a bidder is non-responsible.

3. Return required documents within (12) business days.

If you have any questions, please call me at (404-371-6338).

ITB No. 8-101028 Small Domestic Brass Fittings and Gate Valves (Annual Contract with 2 Options to Renew)

Maloof Administration Building • 1300 Commerce Drive, 2nd Floor • Decatur, Georgia 30030 • 404-Website: www.dekalbcountyea.gov

ITB No. 18-101028 Small Domestic Brass Fittings and Gate Valves (Annual Contract with 2 Options to Renew)

User Department's Recommendation	
User Department Name: Watershed M	anagement
Amount Spent on Previous Contract: \$5,02	26,234.80
Recommended Bidder(s) meets our approval.	
Bidder 1: Delta Municipal Supply, Inc./\$2,669,835.35	Bidder 2: Fortiline/\$34,617.60
Bidder 3:Name/Amount	
Project Amount This Term: \$2,704,452.95	
Funding: General 🔲 Enterprise 🗌	3 Digit Fund Code 511
CIP Line Item No. (if applicable):	
Fortiline as the recommend bidders based on contract term, DWM anticipates increased us Valves contract for the new water meters and Department of Watershed Management. The installation and maintenance process. The pr regarding meter installation service contracts	(DWM) recommends Delta Municipal Supply, Inc, and the totals from the bid tabulation form. During the initial age of the Small Domestic Brass Fittings and Gate other ancillary parts currently being installed by the Small Domestic Brass contract is vital to the water meter evious contract shortfalls were due to complications that have largely been resolved as the program is now mately 5000 - 7000 water meters installed monthly.
Delta Municipal Supply, Inc. Line Items: 1-10,12-17,19-22, 24-32, 34-62, 6	64-106
Fortiline Line Items: 11,18, 23, 33 & 63	
	Reginald Wells Digitally signed by Reginald Wells Date 2019 12 11 17 56 28 -05'00'
Marketa H. Killingbeck, Project Coordinator	Reginald Wells, DWM, Director
	12/11/2019
Date	Date

DEPARTMENT OF PURCHASING CONTRACTING BID TABULATION

ITEM	DESCRIPTION		DELTA M	DELTA MUNICIPAL SUPPLY	LY		FORTILI	FORTILINE WATERWORKS	sks
		Estimated Number of Units	Unit	Unit Price	Amount	Estimated Number of Units	Unit	Unit Price	Amount
1	Nipple, rough brass, 3/4-inch diameter x 1- 3/8inch long, in accordance with enclosed Minimum Specifications.	1,500	EA,	\$1.21	\$1,815.00	1,500	EA.	\$1.25	\$1,875.00
~	Nipple, rough brass, 3/4-inch dlameter x 2- linch long, in accordance with enclosed Minimum Specifications.	300	EA.	\$1.50	\$450.00	300	EA.	\$1.58	\$474,00
m	Nipple, rough brass, 3/4-inch diameter x 3- lirch Iong, in accordance with enclosed Minimum Specifications.	2,000	EA,	£0.2\$	\$4,060.00	2000	EA.	\$2.11	\$4,220.00
4	Nipple, rough brass, 3/4-inch diameter x 6- Inch long, in accordance with enclosed Minimum Specifications.	2,000	EA.	28.E\$	\$7,640.00	2000	EA.	10,14	\$8,020.00
ŝ	Nipple, rough brass, 3/4-inch diameter x 12- inch long, in accordance with enclosed Ninimum Specifications.	3,600	EA.	5E.7 2	\$26,352.00	3600	EA.	\$7,70	\$27,720.00
o a	Nipple, rough brass, 1-inch dlameter x 1=1/2 inch long, in accordance with enclosed Ninimum Specifications.	100	ĒA	\$1.75	\$175.00	100	EA.	\$1.B5	\$185,00
L	Nipple, rough brass, 1-inch diameter x 2-inch long, in accordance with enclosed Minimum Specifications,	400	ÊA.	\$2,16	\$864.00	400	EA.	\$2.28	\$912.00
89	Nipple, rough brass, 1-inch diameter x 3-inch fong, in accordance with enclosed Minimum Specifications,	100	EA.	\$2.91	\$291.00	100	EA.	\$3.06	\$306.00

Price Opening Date: Dec 31, 2018 @10:00 am AGENT NAME: Judi Moore

.

Price Opening Date: Dec 31, 2018 @10:00 am AGENT NAME: Judi Moore

178 Number 18-101028 178 NAME: Small Brass Fitting and Gate Valves

DEPARTMENT OF I'URCHASING CONTRACTING BID TABULATION

ITEM	DESCRIPTION		DELTA MI	DELTA MUNICIPAL SUPPLY	۲۷		FORTILI	FORTILINE WATERWORKS	SKS
		Estimated flumber of Units	Unit	Unit Price	Anteenth	Estimated Rumber of Units	Unit	Unit Price	Amount
6	Nipple, rough brass, 1-inch diameter x (inch long, in accordance with enclosed Minimum Specifications. Bidding On:	300	EA.	\$5.58	\$1,674.00	300	EA,	\$5.86	\$1,758.00
0	Nipple, rough brass, 1-inch diameter x 2- inch long, in accordance with enclosed Ninimum Specifications. Bidding On:	OCE	EA.	\$10.75	\$3,225.00	300	EA.	\$11.54	\$3,462.00
	Nupple, rough brass, 1-1/2 inch diameter x 15 inch long, in accordance with enclosed Minimum Specifications. Bidding On:	200	EA,	\$26.95	\$13 475,00	500	EA.	\$22.97	\$11,485.00
12	Nipple, rough brass, 1-1/2 mch diameter x 2- inch long, in accordance with enclosed Minimuri Specifications.	800	EA.	\$3.59	\$2,952,00	800	EA.	\$3.89	\$3,112.00
2	Nipple, rough brass, 1-1/2 inch diameter x 6- inch long, in accordance with enclosed Minimum Specifications.	700	EA.	\$9.30	\$tb,#60.00	700	EA.	\$10.31	\$7,217.00
14	Nupple, rough brass, 2-mch diameter x 2-mch long, in accordance with enclosed Minimum Specifications.	400	EA.	\$5.24	00.960,51	400	EA.	\$5.51	\$2,204.00
15	Nupple, rough brass, 2-inch diameter x 4-inch long, in accordance with enclosed Minimum Specifications.	100	EA.	\$8.54	\$554.00	100	EA.	\$8.98	\$858.00
16	Nipple, rough trass, 2-inch diameter x 5-inch long, in accordance with enclosed Minimum Specifications.	200	4	\$12.39	00,717,68	300	EA.	\$13.26	\$3,978.00

×

Ŧ

DEPARTMENT OF PURCHASING CONTRACTING BID TABULATION

Price Opening Date: Dec 31, 2018 @10:00 am AGENT NAME: Judi Moore

.

,

	DESCRIPTION		DELTA H	DELTA MUNICIPAL SUPPLY	, TA		FORTILI	FORTILINE WATERWORKS	sks
32	•	Estimated Number of Units	Unit	Unit Price	Anount	Estimated Number of Units	Und	Unat Price	Amount
Nipple, long, in Specific	Nipple, rough brass, 2-inch diameter x 8-inch long, in accordance with enclosed Minimum Specifications.	100	EA.	\$16,82	\$1,682.00	100	Ě.	\$17.70	\$1,770.00
Nipple, roug inch long, in Minimum Sp	Nipple, rough brass, 2-inch diameter x 16- inch long, in accordance with enclosed Minimum Specifications,	250	EA.	\$36.95	05"ZEZ'6\$	250	EA.	\$34,85	\$8,712.50
Nipple, long, in Specific	Nipple, rough brass, 3-inch diameter x 4-inch long, in accordance with enclosed Minimum Specifications.	OP.	EA.	\$24,94	\$748,20	30	EA.	\$26.19	\$785.70
Nipple, long, in Specific	Nipple, rough brass, 3-inch diameter x 8-inch long, in accordance with enclosed Minimum Specifications.	G	EA.	\$47.36	\$2,368.00	50	EA.	\$49,74	\$2,487.00
Nipple, rougi inch long, in Minimum Sp	Nipple, rough brass, 3-inch diameter x 12- inch long, in accordance with enclosed Minimum Specifications.	20	EA.	\$48.15	\$2,407,50	50	EA.	\$72.38	\$3,619.00
Nipple, long, in Specific	Nipple, rough brass, 4-inch diarneter x 4-inch long, in accordance with enclosed Minimum, Specifications.	10	EA.	\$36.86	\$368.60	10	EA,	\$38.71	\$387,10
Nipple, rougl inch long, in Minimum Sp	Nipple, rough brass, 4-inch diameter x 18- inch long, in accordance with enclosed Minimum Specifications.	10	EA.	\$166.92	\$1,669.20	10	EA.	\$162,76	\$1,627,60
Vipple, nch lon <u>dinimu</u>	Nipple, rough brass, 3-inch diameter x 2-5/8 inch long (close), in accordance with enclosed Minimum Specifications.	60	ÊA.	\$18.80	\$1,128.00	60	EA.	\$19.78	\$1,186.80
Vipple, ong, in specific	Nipple, raugh brass, 4-inch diameter x 8-inch long, in accordance with enclosed Minimum Specifications,	10	EA.	\$67.15	\$671.50	10	EA.	\$70.81	\$708,10
tipple, nch lon tinimur	Nipple, rough brass, 4-inch diameter x 12- inch long, and in accordance with enclosed Minimum Specifications.	10	EA.	\$98,30	00.£86\$	10	EA.	\$103.33	\$1,033.30
Elbow, rough female, and i Minimum Spe	Elbow, rough brass, 3/4-inch x 45 degrees, female, and in accordance with enclosed Minimum Specifications.	100	EA.	\$7.60	\$760.00	100	EA.	\$8,63	\$863.00

DEPARTMENT OF PURCHASING CONTRACTING BID TABULATION

Price Opening Date: Dec 31, 2018 @10:00 am AGENT NAME: Judi Moore

ITEM	DESCRIPTION		DELTA MI	DELTA MUNICIPAL SUPPLY	۲Y		FORTILI	FORTILINE WATERWORKS	IKS
		Estimated Number of Units	Unot	Dail Price	Annount	Estimated Number of Units	Unit	Unit Price	ծացարլ
58	Elbow, rough brass, 1-inch x 45 degrees, l'emake, and in accordance with enclosed Minimum Specifications.	44	EA.	\$13.05	\$2.782\$	45	EA.	\$14.71	\$661.95
29	Elbow, rough brass, 1-1/2 inch x 45 degrees, female, and in accordance with enclosed Minimum Specifications.	60	EA.	\$25°99	\$1.559.40	60	EA.	\$29.43	\$1,765.80
e	Elbow, rough brass, 2-inch x 45 degrees, female, and in accordance with enclosed Minimum Specifications.	0p	EÅ.	05.95\$	11,185.00	30	EA.	\$42.80	\$1,284.00
31	Elbow, rough brass, 3/4-inch x 90 degrees, lemale, and in accordance with enclosed Minimum Specifications.	2,100	EA.	\$5.69	00 616'115	2100	έA.	\$5.95	\$12,495.00
32	Elbow, rough brass, 1-inch x 90 degrees, female, and in accordance with enclosed Minimum Specifications.	200	EA.	\$9.34	\$1,868.00	-	EA.	8/8	N/B
EE	Elbow, rough brais, 1-1/2 inch x 90 degrees, fernale, and in accordance with enclosed Minimum Specifications.	2,100	EA.	\$18.69	\$39,249,00	2100	EA.	\$5.95	\$12,495.00
24	Elbow, rough brass, 2-inch x 90 degrees, female, and in accordance with enclosed Ninimum Specifications.	200	EA.	\$30.85	\$6,170.00	200	EA.	12.158	\$6,242.00
35	Elbow, rough brass, 3-inch x 90 degrees, female, and in accordance with enclosed Minimum Specifications.	<u>0</u> 7	ΕA.	\$106.91	\$4,276.40	40	EA.	\$115.30	\$4,612,00
36	Elbow, rough brass, 4-inch x 90 degrees, female, and in accordance with enclosed Minimum Specifications.	ot	EA.	\$216.45	\$2,184.50	01	ĒA.	\$259.60	\$2,596.00
37	Elbow, rough brass, 1-inch x 3/4-inch (reducing), female, and in accordance with enclosed Minimum Specifications	600	EA.	\$14.95	\$8,970.00	600	EA.	\$17.24	\$10,344.00
38	Elbow, rough brass, 2-inch x 1-1/2 inch (reducing), female, and in accordance with enclosed Minimum Specifications.	100	ĘĄ	\$50.68	\$5,068.00	100	EA.	\$59.55	\$5,955.00

DEPARTMENT OF PURCHASING CONTRACTING BID TABULATION

Price Opening Date: Dec 31, 2018 @10:00 am AGENT NAME: Judi Moore

•

÷.

	Γ								
DESCRIPTION	-	-	DELTA M	DELTA MUNICIPAL SUPPLY	LY .		FORTILI	FORTTLINE WATERWORKS	RKS
Estimated Number of Units	Estimated Number of Units		Unit	Unit Price	Amount	Estimated Number of Units	Unit	Unit Price	Amount
Ell, rough brass, 3/4-inch x 90 degrees, street elbow, and in accordance with enclosed 1,200 Minimum Specifications.	1,200		ĒĀ.	\$7.74	\$9,288.00	1200	EA.	\$8.18	\$9,816.00
Ell, rough brass, 1-inch x 90 degrees, street elbow, and in accordance with enclosed Minimum Specifications.	50		EA,	\$12,94	\$647,00	50	EA.	\$13.39	\$669.50
Ell, rough brass, 1-1/2 inch x 90 degrees, street elbow, and in accordance with enclosed Minimum Specifications.	50		EA.	\$25.87	05,E92,18	50	EA.	\$26.77	\$1,338.50
	10		EA.	\$43.84	\$438.40	10	ĒA.	\$45.36	\$453.60
Tee, rough brass, 3/4-inch, and in accordance with enclosed Minimum Specifications, 500	500		EA.	\$7.17	\$3,585,00	500	EA.	\$7,42	\$3,710.00
	70		EA.	\$12.92	\$904.40	20	EA.	\$13.39	\$937.30
	70		EA.	\$25.15	\$1,760.50	70	EA.	\$26.02	\$1,821.40
	75		EA.	\$22.27	\$1,670,25	75	EA.	\$23.05	\$1,728.75
Tee, rough brass, 2-inch, and in accordance with enclosed Minimum Specifications. 100	100		EA.	\$41.50	\$4,150.00	100	EA.	\$43.14	\$4,314,00
	10		EA.	\$145.62	\$1,456.20	10	EA.	\$174.64	\$1,746.40
Tee, rough brass, 4-inch, and in accordance with enclosed Minimum Specifications.	10		EA.	\$361.32	\$3,613.20	10	EA.	\$433.31	\$4,333.10
Reducer, rough brass, 1-inch x 3/4-inch, female on both ends, and in accordance with enclosed Minimum Specifications.	1,800		EA.	\$9.65	00.075,712	1800	EA.	\$10.09	\$18,162.00
Reducer, rough brass, 2-inch x 1-1/2 inch, female on both ends, and in accordance with 700 enclosed Minimum Specifications.	700		EA.	\$40.05	\$28,035.00	700	EA.	\$46.11	\$32,277.00

DEPARTMENT OF PURCHASING CONTRACTING BID TABULATION

Price Opening Date: Dec 31, 2018 @10:00 am AGENT NAME: Judi Moore

ITEM	DESCRIPTION		DELTA MI	DELTA MUNICIPAL SUPPLY	۲۸		FORTILI	FORTILINE WATERWORKS	KS
		Estimated Number of Units	Unit	Unit Pace	Annount	Estimated Number of Units	Unit	Unit Price	Amount
53	Coupling, rough brass, 3/4-inch (sleeves), and in accordance with enclosed Minimum Specifications.	5,200	EA.	toss	\$26,052.00	5200	EA.	\$5.22	\$27,144.00
53	Coupling, rough brass, 1-inch (sleeves), and in accordance with enclosed Minimum Specifications.	500	EA.	\$8.55	\$4,275.00	200	EA.	\$8.91	\$4,455.00
4 4	Coupling, rough brass, 1-1/4 inch (sleeves), and in accordance with enclosed Minimum Specifications.	10	EA.	\$14.37	OL'EFIS	10	EA.	\$14.86	\$148.60
SS	Coupling, rough brass, 1-1/2 unch (sleeves), and in accordance with enclosed (flimmurn Specifications.	600	EA.	\$18.69	11 214.00	600	EA.	\$19.34	\$11,604.00
10	Coupling, rough brass, 2-inch (sleeves) and in accordance with enclosed Minimum Specifications.	200	EA.	\$30.85	4te,170.00	200	EA.	\$31,98	\$6,396.00
57	Coupling, rough brass, 2-1/2 inch (slee'ves), and in accordance with enclosed Minimum Specifications.	10	EA	\$52.50	\$525,00	10	ΕA.	\$60.57	\$605.70
8	Coupling, rough brass, 3 mch (sleeves), and in accordance with enclosed Minimum Sneerfications.	90	EA.	\$69 99	02'660'C\$	30	EA.	56'E8\$	\$2,518.50
59	Coupling, rough brass, 4-inch (sleeves), and in accordance with inclosed Minimum Specifications.	10	EA.	\$144.21	\$1,442.10	10	EA.	\$172.96	\$1,729.60
60	Plug, rough brass, 3/4-inch, square heed and in accordance with enclosed Minimum Specifications.	200	EA.	\$3.59	\$716.00	200	EA.	\$3,72	\$744.00
61	Plug, rough brass, 2-inch, square head, and in accordance with enclosed Minimum Snecifications.	100	EA.	\$16.51	\$1,651.00	100	EA.	\$17.09	\$1,709.00
62	Plug, rough brass, 4-inch, square head, and in accordance with enclosed Minimum Specifications.	10	EA.	\$79.96	09.667.2	10	EA	\$86.24	\$862.40
63	Plug, rough brass, 1-inch, square head, and in accordance with enclosed Minimum Sperifications.	50	ĘĄ.	\$16.49	\$824,50	20	EA.	\$5,95	\$297.50
64	Plug, rough brass, 1-1/2 inch, square head, and in accordance with enclosed Minimum Superiorations	200	EA.	\$10.02	\$2,004.00	200	EA.	\$10.41	\$2,082.00

.

ē

ITB NAME: Small Brass Fitting and Gate Valves ITB Number 18-101028

DEPARTMENT OF PURCHASING CONTRACTING **BID TABULATION**

\$3,270.00 \$26,721.00 \$7,920.00 \$464.50 \$3,256,00 \$1,562.60 \$6,050.00 Amount \$92.90 \$132.00 \$162.80 \$660.00 \$604.90 FORTILINE WATERWORKS Unit Price \$13.20 \$13.20 \$9,29 \$5.45 \$60.49 \$16.28 \$156.26 \$9.29 \$16.28 \$89.07 \$13.20 \$60.50 Unit €. Ę, Ę. EA. EĂ. EA. EĂ. EĀ. EĂ, EĂ. Ē, EĂ. EA. Estimated Number of Units 100 20 600 10 10 10 20 600 10 200 8 908 10 \$3,156.00 \$7,494.00 \$3,148.00 \$1,448.70 \$25,227.00 \$448,00 \$157.00 \$5,608.00 \$127,50 \$154.10 \$89.60 \$637.50 \$560.80 Amount DELTA MUNICIPAL SUPPLY Unit Price \$8,96 \$15.70 \$15,41 \$12.75 \$12.49 \$5.26 \$8,96 \$12.75 \$56,08 \$144.87 \$56.08 \$15.74 \$84.09 Unit Ę, EĂ. Ē, ĒĀ. ĒĄ. EA. EA. EA EA. Ē EA. EA. ₽. Estimated Number of Units 20 2 600 9 2 01 3 003 01 200 100 2 300 Hex Bushing, rough brass, screwed fittings, 1-1/4 inch x 3/4-inch, and in accordance with Hex Bushing, rough brass, screwed fittings, 1-1/2 inch x 3/4-Inch, and in accordance with enclosed Minimum Specifications. enclosed Minimum Specifications. Hex Bushing, rough brass, screwed fittings, 1-1/2-inch x 1-inch, and in accordance with enclosed Minimum Specifications: AY McD-Stop, brass, ball valve curb, 3/4-inch IP x IP Full Port, and in accordance with enclosed Hex Bushing, rough brass, screwed fittings, 1-1/4-inch x 1-inch, and in accordance with Hex Bushing, rough brass, screwed fittings, 2-inch x 1-1/2 inch, and in accordance with <u>enclosed Minimum Specifications</u>. Hex Bushing, rough brass, screwed fittings, 4-inch x 2-inch, and in accordance with enclosed Minimum Specifications. Hex Bushing, raugh brass, screwed fittings, [1-linch x 3/4-inch, and in accordance with enclosed Minimum Specifications. Hex Bushing, rough brass, screwed fittings, Hex Bushing, rough brass, screwed fittings, 3-inch x 1-1/2 inch, and in accordance with Hex Bushing, rough brass, screwed fittings, Hex Bushing, rough brass, screwed fittings, 1-1/2 inch x 1-1/4 inch, and in accordance 2-inch x 3/4-inch, and in accordance with Hex Bushing, rough brass, screwed fittings, 2-inch x 1-inch, and in accordance with 3-Inch x 2-inch, and in accordance with with enclosed Minimum Specifications. enclosed Minimum Specifications DESCRIPTION ITEM 52 66 6 68 69 20 12 72 5 4 50 76 22

_

\$54,165.00

\$36.11

EA.

1500

\$50.550.00

\$33.70

EA.

1,500

Minimum Specifications, AY McD-7610W

28

Price Opening Date: Dec 31, 2018 @10:00 am AGENT NAME: Judi Moore

DEPARTMENT OF PURCHASING CONTRACTING BID TABULATION

Price Opening Date; Dec 31, 2018 @10:00 am AGENT NAME: Judi Moore

ITEM	DESCRIPTION		DELTA MI	DELTA MUNICIPAL SUPPLY	۲۸		FORTILI	FORTILINE WATERWORKS	KS
		Estimated Rumber of Units	Uait	Unit Price	Amount	Estimated Number of Units	Unit	Unit Price	Amount
6/	Stop, brass, ball vatve curb, 1-inch IP × IP, Full Port, and in accordance with enclosed Misimum Sourtientions: AY IntD-76101.W	100	EA.	\$53.20	\$5,320.00	100	EA.	\$56.41	\$5,641.00
80-	Norman Spectrometer Strength of the second s	100	EA.	\$109.21	00'126'015	100	EA.	\$115.90	\$11,590.00
81	Coupling, brass, straight meter coupling, 3/4- inch x 3/4-inch ribbed tailoiece, drilled swivel nut,	10,000	EA.	\$6.64	\$60,400.00	10,000	EA.	N/B	N/B
82	Coupling, brass, meter coupling, 3/4-inch x 12-inch, and in accordance with enclosed Minimum Specifications: Ford C-38-23-12 or	10,000	EA.	\$33.02	(130,200,00	010,010	EA.	8/N	M/B
69	Coupling, brass, straight meter coupling, 1- 1/2 inch x 1-1/2 inch ribbed tailpiece, drilled wwwel mit and in accordance with enclosed	05	EA.	\$27.60	\$1,380.00	50	EA.	N/B	1/13
84	Coupling, brass, straight meter coupling, 1- inch x 1-1/4 inch ribbed tailpiece, drilleit swivel mut and in accordance with enclosed	400	EA.	\$10.03	\$4,012,00	400	EA.	n/B	N/B
58	Adaptor, brass, 3/4-inch PVC x MIP, with steal insert stiffener, and in accordance with steal insert stiffener, and in accordance with anchesed himmure Specifications. Ford 286-	2,000	EA.	\$12,82	\$25 640.00	2,000	EA.	\$13.54	\$27,080.00
86	Adaptor, brass, 1-inch PVC × MIP, with steel insert stiffener, and in accordance with anchowed bilinmin Strentizations: Ford C86-	1,500	EA.	\$19.91	\$29 865.00	1500	EA.	\$21.09	\$31,635.00
87	Coupling, brass compression for PVC pipe, 3/4-inch, and in accordance with enclosed Minimum Streeffications: Ford C77-33 or AY	1,300	€A,	\$17.28	\$22 464.00	1300	EA.	\$18.14	\$23,582.00
88	Coupling, brass compression for PVC pipe, 1- inch, and in accordance with enclosed Minimum Specifications, Ford C77-44 or AY	300	EA.	\$29.38	\$3 814.00	300	EA.	\$31.11	\$9,333.00
68	Coupling, brass compression for PVC pipe, 1-1/4-inch, and in accordance with enclosed Minimum Superfications: Ford C77-55 or	30	EA.	\$43.13	06,293,90	30	EA.	\$45.76	\$1,372.80
06	Coupling, brass compression for PVC pi.je, 1-1/2 inch, and in accordance with enclosed Minimum Specifications; Ford C77-66 or	200	€А.	\$56.73	\$11.346.00	200	EA.	\$60.14	\$12,028.00
16	Coupling, brass compression for PVC pipe, 2-inch, and in accordance with enclosed Minimum Specifications: Ford C77-77 or	200	EÅ,	\$85.85	\$17,170.00	200	EA.	N/B	N/B
92	Gate Valve, 1-1/2 inch, and in accordance with enclosed Minimum Specifications.	ζŋ	EA.	\$282.46	\$5,649.20	20	EA.	8/N	N/B

.

r)

DEPARTMENT OF PURCHASING CONTRACTING BID TABULATION

Amount N/B FORTILINE WATERWORKS Unit Price N/B Unit EĀ. ËÅ. EĀ. EA. EĀ. EA. ĒĀ. EA. EA. Ę, EA EN. Estimaled Number of Units 10,000 4,000 500 20 30 500 200 100 50 100 100 250 \$74,840.00 \$23,460.00 \$35,475.00 \$1,381,800.00 \$7,419.60 \$6,804.30 \$1,431.00 \$25,234.00 \$12,861.00 \$16,595.00 \$18,736.00 \$67,305.00 Amount DELTA MUNICIPAL SUPPLY thut Price \$370.98 \$138.18 \$226.81 \$28.62 \$126.17 \$165.95 \$18.71 \$128.61 \$187.36 \$269.22 \$46.92 \$70.95 Unit Š EĀ. ĒĀ, EA. EA. EA. EA. ĒĀ. EA. EA. ĒÅ. EA. Estimated Number of Unuts 4,000 10,000 200 50 39 20 560 200 100 100 100 250 accordance with enclosed Minimum Gate Valve, 3/4-inch, and in accordance with enclosed Minimum Specifications, valve, 3/4-Inch x 18-inch meter fitting, and in Resetter, Full port dual port and full port ball valve, 3/ 4-Inch x 12-Inch meter fitting, and <u>In accordance with enclosed Minimum</u> Resetter, Full port dual port and full port ball accordance with enclosed Minimum Resetter, Full port dual port and full port ball valve, 1-inch x 18-inch meter fitting, and in duat angle cartridge check valve, Full Port, 1 inch angle ball valve, and in accordance with enclosed Minimum Specifications; Ford Resetter, Full port dual port and full port ball valve, 1-inch x 12-inch meter fitting, and in Retrosetter, meter, 1-inch x 4-1/8 inch, with Gate Valve, 2 inch, and in accordance with enclosed Minimum Specifications. Gate Valve, 1-inch, and in accordance with enclosed Minimum Specifications. Gate Valve, 2-inch, and in accordance with enclosed Minimum Specifications. Gate Valve, 1-1/2 inch, and in accordance with enclosed Minimum Specifications. Gate Valve, 3 inch, non-rising stem, solid wedge disc and full flow FLP x FIP, and in accordance with enclosed Minimum Retrosetter, meter, 3/ 4-inch x 4-1/8 inch, with dual angle cartridge check valve, Full Port, 3/ 4 inch angle ball valve, and in accordance with enclosed Minimum DESCRIPTION ITEM 6 94 56 96 6 98 8 100 101 102 103 104

N/B

N/B

EĀ.

75

\$54,686.25

\$729,15

έÅ.

75

#HHCA31-444, #BA13-444W, retro 4 CV-By-Pass, meter, 1-1/2 inch complete with 1-1/2 inch test port, Full port, and in

accordance with enclosed Minimum

105

Price Opening Date: Dec 31, 2018 @10:00 am AGENT NAME: Judi Moore

. . . .

l

DEPARTMENT OF PURCHASING CONTRACTING BID TABULATION

Price Opening Date: Dec 31, 2018 @10:00 am AGENT NAME: Judi Moore

,

ITEM	DESCRIPTION		DELTA MI	DELTA MUNICIPAL SUPPLY	٩LY		LOKITCH		2
-		Estimated Number of Units	Unit	ปกน์ Price	Arnount	Estumated Number of Units	Unit	Unit Price	Amount
106 port Minir	By-Pass, meter, 2-inch, complete, with 2 ⁼ Full port and in accordance with enclosed Minimum Superifications.	75	EA.	\$728.56	\$54,642.00	75	EA.	N/B	n/B
TOTAL					\$2,669,835.35				\$34,617.60

Number of Bids Received:	
LSBE Participation	Yes
	Yes
Rid Briden in compare sealed environment of Noi	Yes

Delta Municipal Supply, 408 Jessee Gronic Road, Bunselton, GA 30517 Fortiline Waterworks, 321 Highway 411 NE, White, GA 30184

Construction Pipes and Supply was deemed non-responsive for failure to attend a mandatory LSBE conference.

Hayes Pipe Supply and Ferguson Waterworks were deemed non-responsive for failure to provide supporting documentation to support GFE.

Vilness Signature

Agent Signature

• • • • •